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Non-small cell lung cancer A549

Human colon cancer HCT116
– Chakarbarti 2018

𝜌𝑚𝑑 = 0.07 𝜌𝑐𝑐 = 0.35

Neuroblastoma TET21N
– Kuchen 2020

𝜌𝑚𝑑 = 0.35 𝜌𝑐𝑐 = 0.40



Cannot be satisfied

Cannot explain cell 
behaviour using 

simple inheritance 
rules.



Total cell cycle duration calculated by 𝜏 = 𝜶⊤𝒙 or    𝜏 = 𝛼1𝑥1 + 𝛼2𝑥2

Split model
𝛼1 = 𝛼2 = 1

Hidden model
𝛼1 = 1 and 𝛼2 = 0

Correlations 
between phases of 

the cell cycle

Correlations 
between cell cycle 

duration and a 
hidden factor

Which works 
the best?


